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 𝐻 = 𝐻∗ (𝐿𝑙 )𝑙≥1 ∑𝑙≥1𝐿𝑖 𝐿𝑙

 𝑥, 𝑦 = 𝑥𝑦 − 𝑦𝑥
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(𝑉, F) ∥⋅∥: 𝑣 → ℝ
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 𝑣, 𝑤 ∈ 𝑉 〈𝑣, 𝑤〉

𝑢, 𝑣,𝑤 ∈ 𝑉 𝛼 ∈ ℝ

〈𝑣, 𝑣〉 ≥ 0 𝑣 = 0

〈𝑣,𝑤〉 = 〈𝑤, 𝑣〉

〈𝑢 + 𝑣,𝑤〉 = 〈𝑢, 𝑤〉 + 〈𝑣, 𝑤〉

〈𝛼𝑣, 𝑤〉 = 𝛼〈𝑣, 𝑤〉
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〈𝑢, 𝑢〉 =∥ 𝑢 ∥2

= 𝐿1 = |𝑢 ⟩⟨ 𝑣|,  𝐿1 for 𝑙 ≥ 2 ∗

⊆ ⊆



 

 

λ

𝑤 ⊥ 𝑣,

𝑤 = 𝑣

〈𝑣, 𝑣〉 = ‖𝑣‖ 2 

λ

λ
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𝑀𝑛(𝑐), 𝐿(𝑥∗𝑥) = 0

  


